Wealth inequality

The median U.S. household net worth
is $118,200.
Bezos has $172,000,000,000.
So ... how does that compare?

Mona Chalabi,
New York Times Magazine, April 7, 2022,
whose answers are physical comparisons —e.g.,

if household worth = size of a white blood cell,
then Bezos' worth = size of a finback whale
[An arithmetic comparison is that
Bezos' net worth of $172,000,000,000
= net worth of 1,455,161 median households,
which contained 2.64 people in 2022,
which means his net worth in 2022
= that of at least 3,841,625 people,
which is more people than live in 24 states or
in any city other than New York and Los Angeles]
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